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Love Is In The Air
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1 The creature's eyes are to the right of its
nose.

There are between four and seven petals on
the flower the creature is holding.

The creature's teeth are visible.

4 There are at least five spots on the creature's
" body.

The heart closest to the creature's nose is the
largest of the hearts in the scene.

The tip of the creature’s tail is above its head.

foot.
There are no leaves visible on the flower,

The creature has at least four hairs on its

5
6
7 One of the hearts is larger than the creature’s
8
9 head.

1 0 There are scales or spines visible on the
creature’s back.
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